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QUESTION 1

What is an accurate description of the handling of application exceptions thrown by a JAX- WS service endpoint? 

A. Application exceptions can be mapped to faults in WSDL. 

B. Application exceptions are NOT handled by JAX-WS clients. 

C. Application exceptions are always propagated to JAX-WS clients as RemoteExceptions. 

D. Application exceptions are always propagated to JAX-WS clients as WebServiceExceptions. 

E. Application exceptions are always propagated to JAX-WS clients as SOAPFaultExceptions. 

Correct Answer: A 

 

QUESTION 2

Which two code fragments are valid XML schema anonymous complex type definitions? (Choose two.) 

A.  

B.  

C.  

D.  

Correct Answer: BC 

 

QUESTION 3

Which Java type can be used to represent arbitrary XML data in a JAX-WS service endpoint interface? 

A. javax.xml.soap.SOAPNode 

B. javax.xml.soap.SOAPPart 

C. javax.xml.soap.SOAPElement 

D. javax.xml.soap.SOAPException 

E. javax.xml.soap.SOAPMessage 

F. javax.xml.soap.Node 

Correct Answer: C 

 

QUESTION 4



Given: 

1.

  

2.

  

3.

  

4.

 Sun Solaris 

5.

 99.99 

6.

  

7.

 Solaris for Intel 

8.

  

9.

 A358185 

10.

  

11.

  

Which statement is correct? 

A. The message is SOAP-encoded because the encoding style is implied. 

B. The message is RPC-encoded because in the absence of other specifiers, this is the WS-I default. 

C. The message is document literal with type encoding, based on the schema provided. 

D. The message is document literal wrapped because there is no encoded type information. 

Correct Answer: C 



 

QUESTION 5

What are two reasons for choosing message-level security in a Web service? (Choose two.) 

A. to support the use of SSL 

B. to support multiple transport protocols 

C. to selectively encrypt message content 

D. to remove security information from SOAP headers 

E. to support encrypted attachments 

Correct Answer: BC 

 

QUESTION 6

Which two statements are true about creating a SOAP message with an attachment? (Choose two.) 

A. Binary attachments make SOAP incompatible with HTTP. 

B. A SOAP Message package must specify Content-Type as multipart/related. 

C. If one or more attachments are XML, they must be in the body of the SOAP message. 

D. MIME attachments referenced inside the SOAP body must use SOAP references. 

E. MIME provides a method to encode attachments in XML making them compatible with SOAP. 

Correct Answer: BD 

 

QUESTION 7

An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
the client and the server. Which two meet all of these requirements? (Choose two.) 

A. X.509 and XKMS 

B. XACML and XKMS 

C. SSL and mutual authentication 

D. XML Encryption and XML Digital Signature 

E. Private network and XML Signature 

Correct Answer: CD 

 



QUESTION 8

A developer is creating a session bean EJB endpoint for a new application. Which three statements are true about the
service? (Choose three.) 

A. It needs to be packaged as a WAR file. 

B. It needs to be packaged as a JAR file. 

C. It needs to be packaged as a .lib file. 

D. The class must not be final or abstract. 

E. It must implement the javax.ejb.SessionBean or javax.ejb.EntityBean interface. 

F. It can be declared an EJB via the @Stateless annotation. 

Correct Answer: BDF 

 

QUESTION 9

According to the WS-I Basic Profile 1.1, which two statements are true about the targetNamespace attribute for
xsd:schema elements that are children of WSDL 1.1 type element? (Choose two.) 

A. Its value must be valid unless it has xsd:import, xsd:annotation, or both as its only child elements. 

B. Its value must be empty unless it has xsd:import, xsd:annotation, or both as its only child elements. 

C. It should have same the value as the namespace attribute on the wsdl:import element in a document being imported. 

D. It must have same the value as the namespace attribute on the wsdl:import element in a document being imported. 

Correct Answer: AD 

 

QUESTION 10

What are three characteristics of JSON Web service messages? (Choose three.) 

A. provide interface contracts that are easy to enforce 

B. are self-describing 

C. utilize a collection of name/value pairs 

D. utilize ordered lists of values 

E. provide built-in message security 

F. allow minimum to no coding of object de-serialization 

Correct Answer: CDF 

 



QUESTION 11

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.) 

A. SAX 

B. DOM 

C. StAX 

D. JAXM 

E. SAAJ 

Correct Answer: BC 

 

QUESTION 12

A Web service needs to encrypt certain SOAP headers when responding. Which statement about this encryption? 

A. The Web service interaction layer is the appropriate place for such encryption. 

B. The Web service processing layer is the appropriate place for such encryption. 

C. Either the Web service interaction or processing layer is appropriate for such encryption. 

D. Neither the Web service interaction nor processing layer is appropriate for such encryption. 

E. Protocol-based encryption like HTTPS should be used to meet the requirements without code changes. 

Correct Answer: A 
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